Y3KOIIOJIOCHBIE CUTHAJIBI

s(t) = Ag(t) cos gt — By(t) sin wgt (1)

s(t) cos ot = A,(t) cos® ot — By(t) sin wgt cos wgt =
= 0,5A44(t) + 0,5A4(t) cos 2wgt — 0,5B,(t) sin 2wt~ (2)

s(t) sin wgt = A,(t) cos wot sin wgt — By(t) sin® wot =
= —0,5B,(t) + 0,5A,(t) sin 2ot + 0,5B4(t) cos 2wpt ~ (3)



KommekcHasa orubaromniad (HM3KOYaCTOTHBIN 9KBUBAJIEHT)

$ua(t) = As(t) + jBs(t) (4)
s(t) = Re(8,q(t)e?™") = A,(t) cos wot — By(t)sinwet ()

Sua(t) = Uy(t)el®s) (6)

Us(t) = |6a(t)] = /A2(t) + B2(t) (7)

@s(t) = arctg ﬁzg; (8)
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AHaJduUTUYEeCKU CUrHaJl

©.9)

s(t) = — JS(w)ejwtdm =



IIpeobpazoBanne I'manbepra

0, w <0

. . ) ]S((D), "0
—jsign(w)S(w) = {jS(m), N
5(t) = s(t) * % _ % J St(?cit






CpoiicTBa npeobpasoBanuda ['mabbepra

H [(XlSl(t) + (1282(?5)} = o1 H [Sl(tﬂ +as H [Sg(tﬂ ;

Hla] = 0, o = const;
H|cos ot] = sign(w) sin wt

H[sin wt] = — sign(w) cos wt
Ecou s(t) = As(t) cos wot — Bs(t) sin wgt, TO

s(t) = H|s(t)] = By(t) cos ogt + A,(t) sin wt
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Us(t)

= [5alt)] = V/$2(t)

+ §2(t)

Sua(t) = 8a(t)e 7O

(31)

(32)



